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SAMPLE A

For what valueof xis AABC ~ ADEF ?

A 18
o B 21

o€ 25

B

72°

36




SAMPLE B

What is the total number of lines of symmetry for this figure?




Which Venn diagram accurately represents the information in the following statement?

. B

Triangles

Isosceles Equilateral

Triangles

Isosceles

Equilateral

If a triangle is equilateral, then it is isosceles.

Triangles

Equilateral

Isosceles

Triangles

Isosceles || Equilateral
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The graph of line j is shown. Which ratio represents the slope of a line parallel to

linej?
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Directions: Click and drag the answers to the correct boxes.

Let p represent
Brent works this summer.

Let g represent
Brent takes a vacation.

Symbolically represent the following argument.

If Brent works this summer, then he will not take a vacation.

Brent takes a vacation.

Therefore, Brent does not work this summer.
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Which type of construction is illustrated in the figure?

o~

e

.
R
_ A The bisector of a given angle
) B An angle congruent to a given angle

_ € A line segment congruent to a given line segment

. D A line segment perpendicular to a given line segment
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The diagrams represent the stripes used to mark parking spaces on a lot. Based only on the
information given, which diagram could be used to prove AB || CDand AC || BD ?
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Given statements:

If a shape is a parallelogram, then opposite angles are congruent,
A rhombus is a parallelogram.

Which is a logical conclusion from the given statements?
. A A rhombus has opposite angles that are congruent.
. B The opposite sides of a rhombus are congruent.

) € The diagonals of a rhombus are congruent.

;D Arhombus is a quadrilateral.
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Which figure appears to have exactly two lines of symmetry?
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Which is the converse of the following statement?

If%: ¢, then a = be.

_ A If %: ¢, then a = be.

_J B Ifa=bc, menfﬂzc.
sl
J C Ifﬂ:tbc,then%:tﬁ.

o D Ir L—’ = ¢, then a = bc.

8 of 45



Which graph best represents a

x
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Which statement describes the construction being illustrated on the rectangle shown?
E
LR
v \ » o BB
L
G

D* it

e

) A A bisector of AB

. B A line segment congruent to AB
_ € A perpendicular to AB through point £ on AB

_ D A perpendicular to AB through point G not on AB
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Four lines and four congruent angles are identified in the diagram.

Which statement must be true?

2 A Onlymlln
_ B Onlypllg
o € pllgand mlln

— D No pair of lines is parallel.
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Directions: Type your answer in the box.

The figure shows JN and KM intersecting at point L.
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Given: MP

v M
L ]
UL /"
[ ]
S
.
; P

Which segment is congruent to M ?
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Triangle ABC is reflected across the x-axis and then reflected across the y-axis to create AA’B'C’,

N

J B ] WD
=

a{:
FJ
=]

=

‘mmucwmim

What are the coordinates of A’ ?

O A(4"1) v € (L4

U B (-2,-4) o D("14)
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A diagonal walkway cuts through a park bordered by two parallel streets. The parks department
plans to add an additional walkway as indicated by the dashed line segment in the figure.

What is the value of x ?

A 42

_ B 48

- € 90

. D 138
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s

The coordinate values of the vertices of A KILM are integers.

J
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L

Which set of coordinate pairs could represent the vertices of a triangle congruent to AKILM ?

A {(0,0),(3,4),(0,5)}

B {(0,0),(~5,0),(0,4)}
C {(-1,1),(-4,5,("1,5)}

D {(-1,1),("1, 4,21}
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Directions: Click on the correct answers.

Given: AABC and AQRS

Select two relationships that would prove AABC ~ AQRS by the Side-Angle-Side (SAS)
Similarity Theorem.

il

17 of 45



The diagonals of a square measure 14 cm. Which is the length of a side of the square?
O A 72 cm
U B 7J3cm
o € 142 em

o D 14J3 cm
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What values for x and y make AMNO = APRT ?

0 A x=11,y=138
© B x=11,y=2/6
O C x=15y=138

D x=15y=276
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Based on the given information, which figure contains a pair of similar triangles?

A Given: AB intersects CD € Given: AARC

D B

N,
N

C A C
. B Given: Quadrilateral ABCD i D Given: 4, B, and C are collinear
B C /\
A - A B C
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A right triangle is shown.

7.8 8

Which angle measure is closest to the value of x ?

) A 43.5°

' B 44.3°

) € 45.7°

) D 46.2°
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Pine Street, Rector Street, and Taylor Street intersect to form a triangular-shaped park as shown.

Pine Street
54° 64°,

Rector Taylor
Street Street

What is the correct order of the lengths of the streets from longest to shortest?

_ A Pine, Taylar, Rector
' B Rector, Taylor, Pine
_ € Rector, Pine, Taylor

o D Taylor, Pine, Rector
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The diagram shows the locations of Noah and Ben after swimming in different directions from a
dock. Let d be the distance from Noah to Ben, in yards.

Noah

Which represents all the possible values, in yards, of d ?
J A 0<d <105
o B 0<d <147

2 € 21 < d <147

U DB3<d <84
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Select the measures that could be the three side lengths of a right triangle.
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Given: ALMN and aAP(QR are isosceles

M 0
(2x — 26)° (x + 16)°

L N P R
What £ P could be used to prove ALMN = APOR ?

A 42°
. B 58°
~ € 61°

D B9
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Directions: Click and drag the answers to the correct boxes.

Given: ARST
RS =14 in.
ST =10in.
TR =16 in.

List the interior angles of ARST in order from smallest to largest.

Smallest ——— Largest

LR

s |

LT
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Triangle LMN is similar to triangle POR.

Q
3cm 5cm
P 4cm R

Which of the following sets of side lengths could be those of triangle LMV ?

~ A 2in, 3in, 4in.
_ B 6km, 7 km, & km
o C 8ft 151, 17 ft

' D 9m, 12m, 15 m
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A right triangle is shown.

15

22°

Which is closest to the value of x ?

_ A 139
o B 9.0
o € 6.1

) D 5.6
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A convex polygon has only the vertices 4, B, C, D, and E. What is the sum of the measures of the
interior angles of this polygon?

' A 360°

) B 540°

) € 900°

) D 1260°
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Rectangle JKLM is shown.

(2x + 4)°

62°

What is the value of x ?

_ A 12
_ B 28
2 € 29

- D 43
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Chords WP and KZ intersect at point L in the circle shown.

What is the length of KZ ?
O A 75
B9
) € 10

- D 12
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Directions: Type your answer in the box.

The height and radius of a cone are each multiplied by 3. What effect does this have on the
volume of the cone?

The volume of the cone is multiplied by —

[
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The equation (x —1)? + (y — 3)? = r? represents circle 4. The point B(4, 7) lies on the circle.
What is r, the length of the radius of circle 4 ?

_ A Jl_
o B 5
| L 5{?

2 D 137
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Rodrigo planted flowers in a section of a circular garden as shown.

80°

13 ft
Which is closest to the area of this section of the garden?
_ A 118sqft
B B2sqft
J € 29sqft

_ D 18sqft
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The height of a cylinder is 9.5 centimeters. The diameter of this cylinder is 1.5 centimeters longer
than the height. Which is closest to the volume of the cylinder?

) A 11507 cm?

) B 287w cm?

) € 1657 cm?

) D 1057w cm?
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s

Which shape must have opposite sides that are parallel and congruent, and diagonals that are
perpendicular bisectors of each other?

- A Parallelogram
B Rectangle
) € Rhombus

D Trapezoid
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Directions: Click and drag the answers to the correct boxes.

A circle has a center at (4, —7) and a radius of 4 units. Create the equation of this circle.

The Equation of the Circle
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The figure represents the pattern for a quilt.

e JABC =120°
e ZADC = (2x +30)°
e /BCD=x"

What is the measure of £ DCE ?
) A 150°
2 B 140°
- € 120°

- D 110°
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A rectangular prism is shown.

What is the surface area of the prism?

" A 156 s5qin.
) B 936 sq in.
) € 1,872 sqin.

D 5,184 sq in.

24 in.

18 in.

12 in.
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The volumes of two spheres are in a ratio of 1:8. What is the ratio of their radii?
2 A 1:512
_ B 1:64
. C 1:4

2D 12
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The minute hand on a clock is 10 centimeters long and travels through an arc of 108° every
18 minutes.

Which measure is closest to the length of the arc the minute hand travels through during this
18-minute period?

A 3cm
B Bcm
€ 94 cm

D 18.8 cm
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Which point lies on the circle represented by the equation (x — 1) +{(y—-3)? =727
JA (71,4)
o B (0,7)
2 € (1,3

2 D (8, 3)
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Directions: Click on all the correct answers.

Select each property that is valid about the diagonals of a square.

The diagonals of a square —

are perpendicular bisect each other

are not perpendicular do naot bisect each other
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Sarah is filling a glass sphere with decorative sand. The radius of the sphere is 2 inches. Which is
closest to the minimum amount of sand Sarah needs to completely fill the glass sphere?

A 107 cuin.
' B 25.1 cuin.

) € 33.5cuin.

- D 100.5 cu in.
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Aaron built a geometrically similar model of the Washington Monument. The height of the actual
monument is nearly 555.5 feet. Aaron’s model is 505 millimeters in height. The width of the base

of the actual monument is 55 feet.

A\

05 millimeters

Which is closest to the width of the base of the model?

0 A 5.05mm

) B 50 mm

J € 55 mm

) D B60.5 mm
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